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Strategy for solving this type of problem:

1) If you are given the base, use that information to find
any known values. For example:

log,1=0. log,3=L log,9=2, etc.

2) Determine if the number they are asking you to take
the log of can be calculated by multiplying or dividing
any of the numbers given, or by raising any of the
numbers (or bases) given to a power. For example:

log,175=log, (5*-7)
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7y log 12 Can'’t be simplified unless we know the
o base. 12=5+7 which doesn’t involve
multiplication, division or exponents.
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